



姓名: _____

日期: _____ 分數: _____

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$



姓名: _____

日期: _____ 分數: _____

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{437}{1080}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{287}{750}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{11}{40}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{173}{750}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{4} = \frac{17}{500}$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) = \frac{1}{10}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) = \frac{4}{9}$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{5}\right) + \frac{2}{5} = \frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{49}{125}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{11}{36}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{67}{192}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) = \frac{4}{9}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{13}{40}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{67}{192}\right)$$